4. Fill in the blanks to complete each statement
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Circle ALL of the following that are greater than 1, and cross out the others.
AO07-70 in 6.1, .71., b

5.
(sitnidar shills as 10-86 o 0.1, 70
g-/’@ ?Q In3 —In2 ﬂtan(%) @S@c‘l(—l) eO.s

Circle ALL of the following limits that are initially in some indeterminate form, before

B 5.8,
$3

74 lim —— lim(1 + @)z Fi lim z'®® P{lim .
z—0 z—00 rz—oo tan™ - x

6. Ci
any algebra or rewriting of any kmd and cross out the rest

im
z—0+ Inx
and cross out the rest.
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Circle ALL of the following that are equal to —
sin

cot z @arctan x \§< tanz\~
arcsin x sinzx

BS ) sinx
tanz csCx

Circle ALL of the following that are valid trigonometric identities, and cross out the

rest. similay
8@‘&3 @ — cos®f = sin’ 4 @csc(—t?) = —csc(f)
%ZSinQG —cos20 =1

—"ﬁ
\?f\sinﬂcosez 1+ cosf




232 TEST 2

You may use your notebook during the last fifteen minutes of this exam.
You may NOT use calculators, cell phones, loose papers, magic, or peeking.

Math 232
March 16; 2012 - ' Name: X k”")f ¥

By printing my name I pl(a-(lgr: to uphold the honor code.

1. Determine whether each of the following is True (T) or False (F).

T ) F If f is positive and decreasing on [a, b], then any Right Sum for [ on [a, ] ?h\

will be an underapproximation.

@ F If fis positive and concave up on [a,b], then any Trapezoid Sum for f on

Uy Jrs [a, b] will be an overapproximation.
2 T @ If f(z) — g(x) = 3 for all z, then f and g have the same antiderivative. "
\L{ eq. fzxhy3
@ F  If f(z) — g(x) = 3 for all 2, then f and g have the same derivative. =i 4(5) = K‘L
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2. Let f be the function shown below, and define A(xz) = f(;r f(t) dt. Answer each
question by filling in the blanks.

Aine. K dee. Ninc.

5/% h o e i | £ |
{ This is a graph of f:
gip{,, A(x) is positive on the interval(s) ~[ o, % ] %
: s
A(z) is increasing on the interval(s) D‘,l’)‘ L 5,k ] '—L<
§ %8

A(x) is zero at the point(s) _* =2 i ——
+

WARNING: The questions above concern the function A,
which is NOT the function that is in the picture.
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